AE Series

Model Numbers and Specifications

Lt

t) L2 1 ﬁ
Tap Holes for Removal t2 %,# EF——

-

¢d
D

P and P' represent the average contact
pressure applied to the shaft and hub

$Di
¢d
¢D

respectively. These values may vary within
+20%, depending on the amount of friction

— applied to the bolts. Transmissible torque

calculated from the minimum allowable

’ﬁ - Mt and transmissible thrust Pax are

contact pressure.

* Note) 3

M(d)d;I Eo. Dimensions nm Tro?grrrgssgble Trar]rshr?lif;stible Contact Pressure Locking Bolts Mass

Shaft Diameter X Mt Pax Shaft Hub Tightening

Outer Diameter ¢ |L2| L |[Lt]|t1 |tz D1 P 2 auiiy|  Size | Torque Ma
mm N - mikef-ml| kN | {kef} | MPa ikef/mm?| MPa fket/mm’) N - mikef-ml| ke
PLO19 X047 AE |19 |248|27.3]333]25 | 3 | 53| 205, 27| 281 2870 | 287 | 293 | 93 | 95| 6 |[M6x18 | 167 | 17 0.28
PLO20 X047 AE |19 |248(27.3|333| 25 | 3 | 53| 274 28 | 281 | 2870 | 272 | 278 | 93 | 95| 6 |M6x18 | 1671 17 0.27
PLO22 X047 AE |19 |24827.3/333|25 | 3 | 53| 3041 31| 281 12870| 248 1 253 | 93 | 95| 6 |M6x18 | 1671 17 | 026
PLO24XO0S0 AE |19 |253(27.8(338| 25| 3 | 57| 3021 40| 328 13350 | 274 1 280 | 102 1 104| 7 |Méx18 | 167 « 17 | 029
PL025 X050 AE |19 |253|27.8(33.8|25 | 3 | 57 4123 4 | 328 1 3350 | 282 1 288 | 102 1 104 7 |Mex18 | 167 1 17 0.29
PLO28XO55 AE |19 [253(286(346|33 | 3 | 62| 5191 53 | 375 13830 | 269 | 27.4 | 106 | 108| 8 [M6x18 | 167 | 17 0.35
PLOSOXOS5AE (19 |253)286|346(33 | 3 | 62| 559! 57 | 375 ' 3830| 251 ' 256 | 106 | 108| 8 M6x18 | 167 | 17 0.34
PLO32X 060 AE |20.5(27.3(309 (369 |36 | 3 | 67| 745! 76 | 469 | 4790 | 267 ' 272 | 113 ! 115/ 10 [M6x 18 | 167 ' 17 044
PLO35 X060 AE [20.5(27.3 309 (369|36 | 3 | 67| 823 84| 469 ' 4790 244 ' 249 | 113 ' 115/ 10 [M6x 18 | 167 | 17 041
PL 038 X065 AE [20.5(27.5|31.1|37.13.6 | 3 | 73| 892, 91 | 469 , 4790 | 228 | 233 | 104 , 106| 10 [M6x 18 | 167 | 1.7 0.48
PL 040 X 065 AE  |20.5(27.5|31.1|37.1|36 | 3 | 73| 931, 95 | 469 | 4790 | 217 |, 221 | 104 | 106| 10 [M6x 18 | 167 | 17 0.45
PL 042 X075 AE | 235|308 (3484284 | 3 | 83| 1640, 167 | 781 | 7970 | 285 | 29.1 | 130 |, 133| 9 |M8x22 | 402 | 4.1 076
PL 045 X 075 AE | 235(30.8|34.8|428|4 | 3 | 83| 1750, 179 | 781 | 7970 | 266 | 27.1 | 130 | 133| 9 |M8x22 | 402 | 4.1 0.71
PL0O48 X080 AE |235(310(35 (43 |4 | 3 | 88| 2060 210 | 868 | 8860 | 280 | 286 | 136 | 139| 10 [M8x 22 | 402 | 4. 081
PLO50 X080 AE |235(310(35 |43 |4 | 3 | 88| 21601 220 | 868 1 8860 | 270 1 275 | 136 1 139| 10 M8 x 22 | 402 | 4.1 077
PL 055X 085 AE |235(308|348(428]4 | 3 | 94| 2350 1 240 | 86.8 1 8860 | 242 1 247 | 128 1 131] 10 [M8x 22 | 402 I 41 084
PL 060 X090 AE |235/30.8|348|428|4 | 3 | 99 25503 260 | 868 3 8860 | 219 3 23 | 122 3 12410 M8 x 22 | 402 3 41 0.90
PLOG5 X095 AE (235|308 (348(428|4 | 3 |104| 3330 340 |104 110600 | 246 ' 251 | 187 | 140 12 [M8x 22 | 402 | 41 096
PLO7OX 110AE (28 36541 |51 |45 | 4 |120| 4800 ' 490 137 14000 | 247 ' 252 | 132 ' 135| 10 |[MI0x 25| 813 ' 83 1.70
PLO75X 116 AE |28 |365(41 |51 |45 | 4 |125|5100! 520 137 14000 | 230 ! 235 | 126 | 129| 10 |[MI0x 25| 813 ' 83 179
PLOBOX 120 AE |28 |365 41 |51 |45 | 4 |130] 6570 ' 670 [165 16800 | 260 | 265 | 145 ' 148| 12 |[MI0x 25| 81.3 | 83 1.89
PLO85 X 125 AE (28 [365|41 |51 |45 | 4 |135| 6960, 710 |165 16800 | 244 | 249 | 139 | 142| 12 |[MI0Ox 25| 813 | 83 1.98
PLO9OX 130 AE (28 (37543 |53 |55 | 4 |140| 7450 | 760 |165 16800 | 241 | 24.6 | 134 | 137| 12 |[MI0x 25| 813 | 83 2.15
PLO95 X 135 AE |28 [37.5(43 |53 |55 | 4 | 145 9110, 930 |193 119700 | 267 | 27.2 | 151 |, 154| 14 |[MIOx 25| 81.3 | 83 224
PL100X 145 AE |34 |440/50 |60 |6 | 4 |155 /10300 | 1050 |207 (21100 | 218 | 222 | 123 | 126 15 |[MIOx 25| 813 | 83 307
PL110X 155 AE |34 |440]50 |60 |6 | 4 | 167114001 1160 |207 121100 | 198 | 202 | 116 | 11.8] 15 |MI0Ox 25| 81.3 1 83 3.35
PL120X 165 AE |34 |440|50 |60 |6 | 4 |177 14900 1 1520 |248 125300 | 218 1 222 | 130 | 133| 18 [MI0x 25| 813 1 83 | 359
PL130X 180 AE |38 |500|57 |69 |7 | 6 | 19519600 1 2000 301 130700 | 214 1+ 21.8 | 129 1 132| 15 |M12x 35142 1 145 504
PL140 X 190 AE |38 |500(57 |69 |7 | 6 |205|21100 3 2150 | 301 330700 198 3 202 | 123 3 126 | 15 | M12 x 35 142 314.5 538
PL150 X 200 AE |38 [500(58 |70 |8 | 6 |215]27000 ' 2760 361 136800 | 221 ' 226 | 140 ' 143| 18 |[M12x35|142 1145 581

Notes) 1. Stocked models are in bold.
2. Mt indicates torque at 0 transmissible thrust, while Pax indicates transmissible thrust at 0 torque. If transmissible torque and thrust apply
simultaneously calculate and compare the combined value with the transmissible torque provided in the table.
3. Dimensions when this product is attached to the shaft and hub.

29



